gﬁat{!ﬁﬁm 7

157 350

2024
I AT
(ara ga & e )

e : 47 | 15 fme | (ot : 100

ML : YR F 15 fime qhenfial t ywaea 1@t & forg fPraffa

First ‘15 minutes are allotted for the candidates to read the

question paper.
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Note :

Instructions .
i) Al questions are compulsory.
ii) Question Nos. I to 10 are Multiple Choice Type. -Quest.ion Nos. 11

to 20 are Very Short Answer Type to be answered within 30 words
Nos. 21 to 26 are Short Answer Type to be

each. ‘Question
answered within 100 words each. Question Nos. 27 to 30 are Long
Answer Type to be answered within 250 words each.

iiij Numerical question is to be solved.

iv) Marks of each question are indicated against it.
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( Multiple Cholice Type Questions )
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Choose and write the correct answer of the following questions in your

answer-book :

Henry Fayol was born in

(i) England (i) America

(iii) Germany (iv) France 1
Planning is

(i) Short term (i), Middle term

(il Long term (iv) For all terms 1
In an enterprise organisation is established by

(1) Top management

(i) Middle management

(1ii) Lower management

(iv) Board of directors

Business environment is not the study of

(i) Social environment (i) Economic environment

(iii) Legal environment (iv) Capital output ratio
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5 Which of the following lcadership styles is dcemed un

busincss enlerprisc ?

(i) Consultative style (i) Burcaucratic style

(iii) Participativc group style (iv) Achievement oriented style 1

6. Which one of the following is included in the process of controlling

technique ?
l[i} Break even analysis (ii) Budget
(iii) Analysing variations (iv) Managerial audit
7. Which one of tl-;e following is not a charactcristic of training ?

(i) Learning process

(ii) Continuous and'é.ystematic process

(mni) Goal oﬁcnted process

.{iv] Natural process -
8. Which of the following is nﬁt the principle of organisation ?

(i) | Principle of exception | (i) Principle of flexibility -

(iii) Principle of .spccia.lisation (iv) Hierarchy theory of needs
9. Which one of the following is not the external source of recruitment ?

(i) Advertisement (i) Promotion

(iii) Educational institution (iv) Employﬁlent exchange
10. Which one of the foliowing isnota method of on-the-job training ?

(i) Internship tralining | " (i) an rotation

(i) Role playing method (iv) Apprcnt:iceship training
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( Very 8hort Answer Type Questions )
fAgfrein @1 &0 3ung @ 9
What 1s mecant by stalling » ’
vl & sl Ba ) s Rewrd) i g s 2 7 2

Why 1s internal source of recruitment considercd more economical ? 2

A A B-d T 99 a% whe $ s @ v Td w0, W T B aw
qgd ATEYES A B ? 2

Which system of leadership does not trust on the use of power, until it is

not very neccssary ? 2
AEER ararerer @ qionfa Hif | 2
2

Define business environment.

SANIRRT HLE0T HfUfEH & I=ria aviieieil wi Iuerey @ ge e |

Write two exemptions available to consumers under Consumer Protection

Act. https://www.upboardonline.com . _ 2
I9HIHT IeTel <l TRiSRT & § oy geflag Hifvw | . | 2
List two advantages of packaging of consumer products. 2
farta e % Q@ el w ==l A | 2
Discuss two objectives of financial planning. - |
wIfteT & Qawe qagd | | | 2
State two features of staffing. 2
AT T H AT H 1 HEA 8 7 2
What is the importance of a leader in ‘mbdern times ? - 2
QeiFTe aen JreushTeld fEem ¥ aR wdred | 2
Differentiate between long-time planning and short-time ﬁlanning. 2
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( Short Answer Type Questions )

21, Pt uftsn & whve awil & am wamd | 5

21. Name the sequential steps taken in the planning proccss. >
22, W3 F W aw v § 7 ®
22. What arc the main clements of organisation ? S
23. fasfew % @ qaEd | >
23. Point out the features of decentralisation. >
24. SR = R 2 >
24. What is working capital ? S
25, ﬁummﬁ'mﬁa%ﬁaawﬁﬁw%m S
25. Explain any two steps of control process, S
26. mmmmﬂ%ﬁmmm%ﬁﬁaaﬂ%mﬁ? S
26. What

are the various methods of achieving the objects of Consumer
Protection Act ?

)
(¥ swfta ww )

' ( Long Answer Type Questions ) .

27. S R 7 s @ wy wE | 2t4+4
U

frehfiertor & frgrit = wogmed | terhsfieheon 3 srrdor F ar T RRy |

7+3
27. What is centralisation ?.E_xplail-u its advantages and disadvantages
.‘ 2+4+4
OR

Describe the principles of deceptralisation. Differentiate between
decentralisation and delegation. 7+3
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8. What is busi i
2 SInNess environment ? Explain its importance.
OR

Explai i
plain the different factors of busincss environment.

29. TR JEyRenm T 2 ?wémaaﬂtﬂmaﬁ%yma‘?ﬁwmﬁaﬁmm% 7
4+ 6

Aqar

’%ﬂﬂﬁwﬂmﬁaﬁﬁtlmﬁg@rﬁﬁmﬁﬂrt 7 =Tl HAY |

oes it help in effective marketing of

4+6

29. What is marketing concept ? How d

goods and services ? 4+6

OR
Define advertising. What are its main characteristics ? Explain. 4+6
30. rererebya fewr w1 & 7 g6 T G Wit w1 e AR | 2+4+4

| HA9qar
mugaﬁzﬁaawasaﬁamaﬁaaf.mu 10

30. Whatis managcﬁal control ? Explain its éigniﬁcance and limitations.

2+4+4

| OR
10

Discuss the relationship between plan and control.
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